Romantic Poetry
LASA Senior English

Part One: With a partner, on a sheet of paper: 

1) Copy 8 lines of one of William Wordsworth’s poems (from The Norton Anthology of English Literature). Leave space between the lines. 
2) Mark the lines’ meter(s)—first scan the lines, stressed and unstressed beats, and divide them into feet. (Do this ABOVE the line.)
3) Write down the rhyme scheme (example ababcc), next to the lines themselves. 

4) Explain the reason for one exception to the metrical rule (for instance, if a line is iambic pentameter, but one foot is dactylic, why is that foot dactylic? What effect does it produce in the audience, and how is that effect appropriate here?) 

5) For the whole poem, list two or more tones, and, using embedded evidence, explain how you know. (Approximately 4 sentences for each tone.) 

6) What is the author’s relationship to nature and how does that impact the poem’s theme(s)? Explain how symbols and/or imagery of a Romantic quality help support the message and tone. For this answer, use direct, embedded quotes from the poem to prove your point. (Approximately five sentences.) 

Iamb:   u / 
Trochee: / u
Dactyl: / u u
Anapest: u u /
…Dimeter, trimeter, tetrameter, pentameter, hexameter…

substitution, catalexis, hypercatalexis, mixed meter…

Remember to scan your lines for stronger and weaker syllables before trying to divide them up. 

